








A invests ¼ part of total investment for ¼ of the

total time duration, but B invests 1/5 part for ½

of the total time duration & C invests rest of the

investment for whole time duration. if total profit

is Rs.5700. find the difference between the profit

of A & C. A कुल निवेश का ¼ कुल समय अवनि के ¼

भाग के नलए निवेश करता है, लेनकि B कुल समय अवनि

के ½ के नलए 1/5 भाग निवेश करता है और C शेष निवेश

को संपूर्ण अवनि के नलए निवेश करता है। यनि कुल लाभ

रु.5700 है। A और C के लाभ के बीच का अंतर ज्ञात

कीनिए। a) 3600 b) 3800 c) 3900 d)4000














